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AIARNUIN U

maaUFauiiisunsdydulnvesduledia Phellinus 10 ¥iln vuamsgns

dumset 3 gms

gnsams(A)
wilaiia (B) 593
Ay Az Ag

Bs 0.60 0.53 0.55 1.68
B, 0.47 0.50 0.37 1.34
B, 0.47 0.53 0.33 1.33
Bs 0.35 0.39 0.31 1.05
Bs 0.45 0.5 0.31 1.26
Bs 0.43 0.53 0.37 1.33
B; 0.53 e 0.35 1.45
Ba 1.06 1.06 0.94 3.06
Bo 1.21 1.06 0.85 3.12
Bio 0.50 0.57 0.35 1.42
394 6.07 6.24 4,73 17.04

gnsonng
Al=PDA  (fuslde)
A2 = SpDA  (Tuwwie)
A3 = RbDA  ($7dm)

YUAVBIDMT
By = Phellinus chrysoloma
B, = Phellinus gilvus
By = Phellinus igniarius

By = Phellinus linteus
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AMANUIN 1

gnIomIe

i. gnsoms PDA (Potato dextrose agar)

Tl 200 13
dhmawintasa 20 n¥u

el 15 N3

¥ndu 1,000 flagans

2. gniomns duiwe

T 200 31
dmaiiinlasa 20 nsu

u 15 nfu

tndu 1,000 {agdans

2. gnsawng $1im

S 200 N34
PmaLinin s 20 n¥Yy
ol 15 3

N 1,000 Aanans

o
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Bs = Phellinus pomaceus
B¢ = Phellinus rimosus

B; = Phellinus robustus
Bg = Phellinus torulosus
By = Phellinus tremulae

Big = Phellinus wahlbergii
HOUMTUATIEN

1. Correction Term

cT =X /N
= 17.067/30
=97 :

2. Sum of square of Total

S5 = Xy -CT
= (0.60%40.47°40.47"..40.35") - CT
- 1155-97
- 1.85

3, Sum of square of A

55, = (X Vb -CT
(6.07°+6.24+4,73/10) - CT
(98.16/10) - 9.7
= 0.116

4, Sum of square of B
ssg = ((XXYar) - CT
2 2 2 2 2 2 2 2 2
(1.68°+1.30 +1.33 +1.05 +1.26 +1.33 +1.45 +2.97 +3.21 +1.42/3) -

I

(34.1/3) - 9.7
= 1.67

I

5. Sum of square of Error




SSe = SSt— (SSa + SSg)
= 1.85-(0.116 + 1.67)
= 0.064
6. Mean of square of A
MSa = SS4/ (a-1)
0.116/2
0.058

I

7. Mean of square of B
MSg = SSg/ (b-1)

1.67/9

1.85

1

8, Mean of square of E
MSe = SSe/ (ab-1)
0.064 /29
= 2.2
9. F-ratio

il

Fa = MSp/ MSg
= 0116/2.2
= 527

Fg = MSg/ MS¢

1.8572.2

0.84

Il

il
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A1 ATIZHR
Sovrce d.f. Ss MS F-ratio
A (3 treatment) 2 0.116 0.058 5.27
B (Phellinus 10 9 1.67 1.85 0.84
Yiin)
Eroor 18 0.064 22
Total 29 1.85

i v Q 1 e = | ' e = P
A1 Fﬁlmmﬂmimmmm’mu 527 gahanaan F ‘lﬂlﬂ"ﬂ'lﬂﬂ’!il,ﬂﬂm’ﬁ’]ﬂ‘i?@ﬁ

A 3.63 wanvhewnsidisadeudasgnsinanesnimadgiivlaveadulodin

Phellinus stsiitid 1Ay n9atin

1 o 1 a’ ﬁé ] r i =y ‘4 r
A1 F anmsiuanyihiu 0.84 aatiesndidn F ildeinnisianisnedaien

whiu 2.46 wansiwiinwiazrialdfinadedasnmaaSydulnvendulodia Phetlinus
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gnsdanssy PDA uag SpDA

gnT0m3(A)
viimfin (B) 57
Ay A
By 0.60 0.53 1.13
B, 0.47 0.50 097
B, 0.47 0.53 1
Bqg 0.35 0.39 0.74
Bs 0.45 0.5 0.95
Bg 0.43 0.53 0.96
B, 0.53 0.57 1.1
By 1.06 1.06 2.12
B Wi 1.06 2.27
Byo 0.50 0.57 1.07
573 6.07 6.24 12.31
funaunsiasiedt

1. Correction Term
cT =X /N
= 12.31°/20
=7.57

2. Sum of square of Total

Sy = Sy - CT
(0.60%+0.47240.47°.+0.57°) - CT

l

l

8.82 - 7.57
1.25
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3. Sum of square of A

5S4 = (XX Wb)-CT
(4.43°44.39°/10) - CT
(38.9/10) - 7.57
368

il

It

4. Sum of sguare of B
SSs = (XX Va) - CT
2 2 2 2 2 2 2 2 2
(1.13°40.97 +1+0.74+0.95 +0.96 +1.1 +2.12°+2.27 +1.07/2) - CT
(17.59/2) - 7.57
1.23

If

Ii

5.Sum of square of Error
SSg = S5y - (SSa + SSp)
= 1.25-(-358 + 1.23)
= 3.6
6. Mean of square of A
MSs = SSp/ (a-1)
-3.68 /1
-3.68

Il

7. Mean of square of B
MSg = SSg/ (b-1)
= 1.23/9
0.137

il

8. Mean of square of E
MS; = SS¢/ (ab-1)

36/19

= (.19
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9. F-ratio
Fa = MSa/ MS¢
= -3.68/0.19
= -19.3
Fg = MSg/ MSe
= (.137 /0.19
= 0.72
a9 IAsEd
Sovrce d.f. SS MS F-ratio
A (2 treatment) 1 -3.68 -3.68 -19.3
B (Phellinus 10 & 1.23 0.137 0.72
Y1)
Eroor 9 3.6 0.19
Total 19 1.85

awnsgasduniey PDA uay SpDA finasedsnnmasiaivinveadulodi

Talupnmnafiy
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mnsUssudisusarnsiesaivinvendulowia Phellinus 10 wfln uuems

gnsduasieyt PDA uay RbDA

gnsemi(A)
giiauin (B) 573
Ay Aa

By 0.60 0.55 1.15
B, 0.47 0.37 0.84
B 0.47 0.33 08
Bg 0.35 0.31 0.66
B, 0.45 0.31 0.76
B, 0.43 0.37 0.8
B4 0.53 0.35 0.88

B, 1.06 0.94 2
B, 1.21 0.85 2.06
By 0.50 0.35 0.85
974 6.07 4,73 10.8

[ P’
JumaunN1TIAIIEd

1. Correction Term
cT =X /N
= 10.8/20
=58
2. Sum of square of Total
$Sr = Xy - CT
(0.60°+0.47°40.47"..40.35") - CT
7.16 - 5.8

1l
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= 1.36
2, Sum of square of A

sS. = (ExWb)-CT
(6.07°44.73°/10) - CT
(41.57/10) - 7.57
34

Ii

1]

4. Sum of square of B
Ssp = (X)Va)-CT
(AT 40974140 7440.95740.96 4114212 42,27 +1.07/2) - CT
(17.59/2) - 7.57
1.23

I

1l

il

5.5um of square of Error
§S¢ = SSr—(SSa + SSp)
= 1.25-(-34 + 1.23)
= 3.42
6. Mean of square of A
MS, = SSa/ (a-1)
= 3471
= -3.4
7. Mean of square of B
MSy = SSg/ (b-1)
1.23/9
0.137

Il

8. Mean of square of E
MSe = SSe/ (ab-1)
3.42/19
= 0.19
9. F-ratio
Fa = MSa/ MSe
= -3.4/0.19
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= -17.89
Fg = MSg/ M5
= 0.137 /0.19
= 072
M13190As9n
Sovrce d.f. SS MS F-ratio
A (2 treatment) 1 3.4 3.4 -17.89
B (Phellinus 10 9 1.23 0.137 0.72
Yiin)
Eroor 9 3.42 0.19
Total 19 1.36

gMnsgnsdansIEd PDA Waz RbDA Tnasesnmnaiaiulnveaduleiall
ERERNG
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msrdFeuiisusarmaalyivinvenduleia Phetlinus 10 wila UwamNs

ansdunsie PDA waw RbDA

gnaami(A)
yianin (8) 573
A, As
B, 0.53 0.55 1.08
B, 0.50 0.37 0.87
B, 0.53 0.33 0.86
B4 0.39 0.31 0.7
By 0.5 0.31 0.81
By 0.53 0.37 0.9
B, 0.57 0.35 0.92
By 1.06 0.94 2
Bg 1.06 0.85 1.91
Byo 0.57 0.35 0.92
593 6.24 4,73 10.97

L) L3
PURDUNNTURIEN

1. Correction Term
cT =X /N
= 10.97°/20
= 6.02
2.Sum of square of Total
SSp = Xy - CT
(0.53%40.507+0.53"..+0.35) - CT
7.12 - 6.02

1

Il
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= 1.1
3. Sum of square of A

55, = (XX Vb)-CT
(6.24°+4.73°/10) - CT
(61.31/10) - 6.02
= 0.11

1

4. Sum of square of B

SSs = (TXVa) - CT
(1.08740.87°40.86°40.740.81%40.9°40.92°+2°+1.91°4092" /2) - CT
(13.96/2) - 6.02
- 0.96

1}

5. Sum of square of Error
SS: = SSp—(SSa + SSp)
= 1.1-(0.11 + 0.96)
= 0.03
6. Mean of square of A
MS, = SSp/ (a-1)
01171
0.11

1]

I

7. Mean of square of B
MSg = SSg/ (b-1)

0.96/9

0.106

1}

H]

8. Mean of square of E
MS; = SSg/ (ab-1)

0.03/19

0.16

il

9. F-ratio
Fy = MS,/ MSe
= 0.11/0.16
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= 0.69
Fg = MSg/ MSg
= 0.106 /0.16
= 0.66
AR
Sovrce d.f. SS MS F-ratio
A (2 treatment) 1 i 0.11 0.69
B (Phellinus 10 9 Ol 0.106 0.66
¥iin)
Eroor 9 0.96 0.16
Total 19 0.03

awsgasdunswd SpDA uay RoDA nasiednsinmaadyfvlaveadulaia
lsumasinedu




